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UNIVERSITY OF WARWICK

Summer Examinations 1996

POPULATION AND SOCIAL CHANGE (NON-FINALISTS)

________________________________________________________________________________________________________________________________________________

Candidates who have NOT submitted an assessed essay should answer THREE questions.

Time allowed:  3 hours

Candidates who have submitted an assessed essay should answer TWO questions.

Time allowed:  2 hours

Read carefully the instructions on your answerbook and make sure that the particulars required are entered on each answerbook.

________________________________________________________________________________________________________________________________________________

 1 
Evaluate the strengths and weaknesses of McKeown's and Szreter's explanations of the decline in mortality in Britain.

________________________________________________________________________

 2 
How important were changes relating to women and children to the decline in fertility in Britain during the late nineteenth and early twentieth centuries?

______________________________________________________________________

 3 
What was the role that nuptiality used to play in regulating population growth in Britain, and why had this role more or less disappeared by the end of the nineteenth century?

________________________________________________________________________

 4 
`Marriage is only superficially out of fashion, since cohabitation is closer to legal marriage than it is to remaining single'. Discuss.

________________________________________________________________________

 5 
Since people may have married heterogamously because they wanted partners who were different to themselves, why should heterogamy be assumed to increase the risk of marital dissolution?

________________________________________________________________________
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________________________________________________________________________

 6 
`Assuming that they are fertile, women in contemporary Britain can choose to have as many or as few children as they want when they want'. Discuss.

________________________________________________________________________

 7 
`A heterogeneous phenomenon like teenage pregnancy merits a multi-faceted policy response'. Discuss.

________________________________________________________________________

 8 
Do the changes in popular and theoretical perspectives on marriage which have taken place in post-war Britain match up to evidence of real changes in marriage and the family?

________________________________________________________________________

 9 
`Like medical problems, marital problems need to be dealt with by experts'. Discuss.

________________________________________________________________________

10 
Now that separation and divorce are much more common in Britain than they used to be, why is the risk of marital dissolution still spread unevenly across couples?

________________________________________________________________________

11 
Why might some divorced or separated people see marriage as an `escape route' out of their current situations?

________________________________________________________________________

12 
`The complexity of stepfamilies creates problems for their members'. Discuss.

________________________________________________________________________

13 
‘Suicide and lung cancer share an important similarity; contemporary British mortality rates corresponding to each of these sources could be reduced’. Discuss.

________________________________________________________________________

14 
`Internal migration in contemporary Britain is primarily a reflection of the labour market'. Discuss.

________________________________________________________________________

                                                          /continued.....
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________________________________________________________________________

15 
Explain the continuing differences between mortality patterns in less-developed countries and those in developed countries.

________________________________________________________________________

16 
`Less-developed countries are unlikely to undergo the same type of fertility transition that developed countries went through in the past'. Discuss.

________________________________________________________________________

17 
Do national population policies have to be coercive to be successful?

________________________________________________________________________

18 
`The ageing British population is a demographic time-bomb'. Discuss.

________________________________________________________________________

                                                               END
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